HE2f e & NS Rlotof AY SEEl0| #HHEE &

O0I&35tA7] HIELICE KP 1512

TI-P130-01
ST Issue 9
(KR 1112)

spira
sarco

SG253 AIO|E Szt

o7 2
SG2532 o

BE

o] A|#-L European Pressure Equipment Directive 97/23/ECQ] &%

[
35

e man, dad

MM

AZQA EE AFAIZ AL EN 10204 3.1 AEAH A 9] Fo] 7Hs3lLt
2 Al g71sfok gtk
o737 U HiZEYY

DN 15, 20, 25, 32, 40, 50
Z3WA)4] BS 4504(DIN) PN25, BS 1560 ASME(ANSI) Class 150

Sl gl

[e]
A o] EA A4 erolct,

AolE FerrzA TAZAFE A A

Centart Ratslo] Bt

o E/2X A
© 280 g <
H
oll 200 L
— | \
=g} \
100 572N \
0 (¢} B
0 5 10 15 20 25
& bar g
[0 o= wag mee pgo] Brhsal,
A-B PN25
A-C ASME(ANSI) 150

SHEAEA

PN25, ASME(ANSI) 150

e PN25 25 bar g @ 100°C
Z|cHsIE=(PMA

SIS A2(PMA) ASME 150  17.2 bar g @ 35°C
R PN25 280°C @ 18 bar g
Z|CHSH L E(TMA)

ItHSIE 2= (TMA) ASME 150 280 @ 10 bar g
ZAGE2E -10C
- . PN25 21 bar g
Z[CHAIZ —L3IS7(9] AL

IHMBUH(PMO-Z 218712 82 L uE 150 13.8 bar g
Z|HAFR 2=(TMO) 280°C
EANE2E oke}
notA|alores PN25 38 bar g

ASME 150 30 bar g

_ PN25 21 bar g
ASAEHYHAE S5

IBe(~E 33) ASME 150 13.8 bar g
orxf A
Hs 2EY HE
1 Body SG iron DIN 1693 GGG 40.3
2 Cover SG iron DIN 1693 GGG 40.3
3 Window Borosilicate glass DIN 7080
4 Gaskets Reinforced exfoliated graphite
5 Cover bolts Steel BS 3692 Gr. 8.8

First for Steam Solutions

EXPERTISE

| SOLUTIONS | SUSTAINABILITY



smra)(sarco

® X|(mm) H

2 Hxe)

® JH|EZ

a1 PN25  ASME 150 Su/beet AU RE2 Ao R BAE] 9lom HAo R A FEe
< A A B E F =25 JHIFEO R FEA gheth
DN15 130 126 55 45 10 3.2 A 2=
DN20 10 142 % 4 10 Al Set of windows and gaskets 3,4
Wi W/ y
DN25 160 152 70 63 15 50 Please note : For the DN25, DN32 sizes a set of bolts(16 A/F
DN32 180 175 70 63 15 5.9 M10x40) is also included due to the increased thickness of the glass.
DN40 200 199 90 80 20 9.1 Set of gaskel 2
DN50 230 228 90 80 20 10.9
a” " T
T
--— 1
- A - T ko 5
! ST T
Pk A (Zo|ego=
[?] [‘f] to ~e -t BZZEX| =)
i=-9 1 1
C ) E
B B I A =23
IR —1
T L’::‘:‘,
1 T~
1 ' '
1
B | T T F (Ra)) T
R T .
— =
le—E—>] .
o obXixE Mx| & HH| X|H
APl AR AT} Rl BaEks AR W ] XA IM-S32-04)2 S _ .
eSS N !
1 v AN
\\\ 1
A Al TN A !
, \
S5 Sl B4 Bo] felue hmuel QgL WA £ gk S8, L 1 () N ;
7] (caustic alkal)@t 59 23}4=2 A hydrofluoric acid)o] = ' Voo
oAM= o 28, uebs, f239] FA7E GlotA =4 RE PN K
718 o7 Fistolof gict, v f-2l3o] gFobaAY 2Alel| ot &4 s
of RIARE 11 2] §213E TAsjolo} Tk, Alo|E Fekas W N (
t= 3 HobdS 2-g-afof gt . -
FrelFo] ui=d wjE diujste] HAgh P AR} HEEA] e ojof gt BRI
o, 4
HX| Al FoArE
g GH|E fJsto] Alo|E ZEkA ASttol= Al HE A x]stofof 3
sh, Ajo|E eprl Thwat eSS WAlsH] Slsto] whel et
ApehE g WA Yolof g, 4
Ko| etz ATER Frio] Sl EL Sufaio] Ag0] A o2t
A 7Fssh, tlad Efiat o] AW wiE 548 7Hd Egee A RN
o 1 m o4 B9z} o|ZA| A H|stofof stk o] Afo|E Felazt :
"% 2 (thermal shock)¥} o1& 2] 21542 3 W] Fw s sh=t]] 1 & R
#o] 9, e
AuE SJsto] 2AA7t A 7HsE YA oll AA|stofof gi, = 3 o 3
AR 223 o
1 ' : ?l 1 '
A Y ' .;—5
-ert o Bs=eh Y- (maiREem
Ya_ ! SSEX| ed=Lt)
o ZHZ oY
e =P A3k N = = N
S m
Hs N \&/ mm %
DN15-20 8 17 AJF M10x 30 12
Pre 08-2010 17 A/F M10x 35
5 DN25-32 8 oo oT I Y ETER 28
Post 08-2010 : 16 A/F M10 x40
DN40-50 8 19 A/F M12x 40 38

I AMOIHAAG(F)

B 2ALTEL(02)3489-3489, FAX 525-5766 M-3% :(032)820-3000, FAX 817-3473 WEZAMOMAMT(F)= 20|
1SO9001(EEEH)/ISO14001(E-HZZ)/OHSAS 18001(QHTEZ) 215 X of X3 EH 2 E ISO 50001(0ILHXIZS) Q!

IZ53(LRQA) 2 2 2E
H}OF-:

(e}
=2
52 LUABLICE



